Scherieffer Wolff Transformation------ Shaoyun Wang------ 2024-10-16

Bold letters means matrix or vectors: A
Bold letters with subscripts means the i th row and j th column block matrix in matrix A: A;;
The k th row and [ th column element in i th row and j th column block matrix A;j in matrix A: (Aij)kl
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We use the following relation
(4,5,k) = (1,1,1),(1,1,2),...,(1,1,K),(1,2,1),...,(1,2,K),..., (1, J,K),...,(I,J,K) - p=1,2,3..., IJK
to transform the counting indices (i, j, k) to a new index p. Then, we collect the coefficients B;;?k, m =1,2,3 into
new vectors A,, where the pth element (A,,), = B,.- And we collect all the coefficients into a big vector which
is A = (A, Ay, As3).Therefore, we have
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By using the index transform, we have
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In fact,
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Scherieffer Wolff Transformation
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